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1
Choose the correct answer : 1266

(@ The ratio of 1mpur1ty atoms t0 in
n an extnns1c

semiconductor atoms i
semiconductor is

() 1:10
G 1 :10°
(iii) 1 : 10°
(iv) 1 : 108

Pg’383



(Far)

(b) When reverse bias is applied to 2
junction diode

() potentia] barrier decreases
(ti) potentia] barrier increases
(iii) majority carrier increases

(iv) minority carrier increases

(c)

The value of ¢ of a transistor is
() more than 1

(i) less than 1

(iii) 1

(iv) 0

(d) The feedback .
oscillation of Wi

g 1
(;)é_

1en bridge oscillator iS

(ti) 5
(1ii) _2_5
(iv) 3

P9/383

( Contint ﬁ

Py -

(3)
as
(e) CMRR in db can be expressed
A
Ac
(ii) 2010g10—-2—-
Ag
(i) 1010g10 5%
Ag
(lU) 2010g10 -E"

m ired to
ber of half adders requireé
(/ The nu

is
add two n-bit number

(i) 2n-1

(i) 2n+1

(iii) n-1

(iv) n+1 v
2. Answer the following questions - i

(@) Explain the action of Zener

voltage regulator. e

i S . r:f(;rniconductor.

in
electrons and holes

verse
9 and revers
(c) A transistor having &= =0 _10 pA 1:
fion'!" current " Ico n. If the bas
satura din CE configuratio silector
operated 1n

late the €

current is 250 pA, calcu i
v

current. A 5



('4")

(d) Explain the effect of negative feedback

(e)

(@)

()
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on the stability of an amplifier.

Calculate the frequency of oscillation of
a Hartley oscillator if Ly, =L, =25 mH

and the capacitor of resonant circuit i8
200 pF.

Verify the folloWing Boolean expression :
A+AB=A+RB

How is gz Potential barrier formed in 2
P-n junction? Explain the mechanism of
current flow under forward and revers®
biased condition, Discuss any on€
method of Junction breakdown.

theory., What g

semiconductor? Sho
level of an intringje
at the middle of the

Fermi level i
W that the Ferm!
semiconductor li€S
forbidden gap.

3+1

i}zlz:g;n t‘he OPeration of a full-wave
necessr Wlth_ Shu.nt Capacitor filter using
eXprecc: . Uit diagram. Derive th€

Pression for ripple and

. factor Z
efﬁc1ency Withoyt filter. %

( Contin”ed

2+3+27

1

A

J

+3’1

[

7

% (a)

(b)

S. ()

(b)

(5)

Draw the circuit diagram fo.r ﬁxe?nb?;;
considering an n-p-n tljan.51storeration-
configuration and explain 1t::: opstability
Derive the expression for its s
factors. Mention the demerits

1+6=7
circuit.
Or

; f an R-C
Draw the circuit dla-grmn'd?frequency
coupled amplifier eod %ts = expression
equivalent circuit. Derive at?cy e
for gain at the mid-frequé 3+4=T
ter for & basic

Define hybrid parameE configuration

it SIS
transistor circuit 1 odel.
and give its hybrid ™

am Of tuned
explain its

. for
on
L 21/2+21/2=5

Draw the circuit diag
collector oscillator anexp
operation. Find th,e
frequency of oscillation:

Or

Explain the princiP
R-C oscillator Wlt_
Derive the expression
oscillation.

for fre'iluengC

ional
an operatmﬂ 3
Describe the use€ c?f B
amplifier as differentia



(6)

6. (a) Discuss the working of full adder with
logic diagram and truth table.

(b)  Simplify the following Bc’.)olt':‘a‘;:l
expression with K-map and draw th
simplified logic circuit :

{c) Determine the

* ok A

5 4
3500/383 5 SEM TpC pHY M

|



